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B.Sc. (CBCS) DEGREE EXAMINATION,
NOVEMBER 2016.

First Semester
Mathematics — Main
CLASSICAL ALGEBRA
(For those who joined in July 2016 onwards)

Time : Three hours Maximum : 75 marks

PART A — (10 x 1 = 10 marks)
Answer ALL questions.
Choose the correct answer :

1.  ax’+3bx® +8cx+d=0 arenp SwETUT Qe ApOEISHT
Quméss Qsrr  aflenslies  yenwuwmulen

(=1) caz=dba- (=) c’a=d’
(@) ac’=bd () ab®=c’d

If the roots of the equation ax®+3bx%+3cx+d=0
are in G.P. then

(a) ca®=db’ ® la=d’
(©) ac®=bd d) ab’=cd

®+px®+qu+r=0 e sLEUT G APOEISET
a, B,y erafla Zazﬁz

(=) 3r-pg (<) 3p-gr

(@) 3q-pr (7) 3pgr

If a,f,7y are the roots of the equation
2°+ px® +qx+r=0, then Y a*f=

(@ 3r-pq (b) 3p-gr
() 3g-pr d) 3pgr
o i e s 1 R
——== arenugen eflfleursssdler — —ar Qe
f(x) x
(=) r (=) r+l
(@) 6 (") &
The coefficient of ml in the expansion of g 18
x’ f(x)
(&) (b) r+1
© &, @ 4
x°+4x* +3x° +8x% +4x+1=0. e  powdp
FLOGHTLIML_L9. 60T €R(Th) ELpevLD '
(@) x=1 (@) x=-1
(@) x=2 (/) x=-2

One root of the reciprocal equation
2% +4x* +3x +3x2 +4x+1=0 is

(a) =x=1 b)) x=-1

(© x=2 @ x=-2
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x —T+—3-—1=0 TG  FLOGIUIML Q.60  ELPEUMEISEnET
12-ayeb Qumsflanma SenLig)

(@) x*+3x%+48x+1728=0

(=) x°-3x®+48x+1728=0

(@) x°-3x®+48x-1728=0

() 12x*-3x®+4x-12=0

If we multiply the roots of the equation
2
x3 -—xInLg«-l:D by 12 we get

(@) x*+3x*+48x+1728=0
(b) x®-3x%+48x+1728=0
() x°-3x%+48x-1728=0
(d) 12x°-3x%+4x-12=0

f(x)=0 erémp sweum genr @@ PE5H5 G

AP EIEEHGE Slenudle —an @@ @
(LPEVLDITEUS)] (@) (HaELD.

(=) f(x)=0 (=) f(x)=0

@) fx)=0 (m) f7(x)=0

Between two consecutive real roots of the equation
f(x)=0, there is atleast one real root of the

equation ———,

@ fx=0  (® [lx)=0

© fx)=0 @ f"(x)=0
x'-9x%+4x+12=0 eem sweLTlger G &0
PLPGOMRIGET X = :

(=) -1 () -3

@ 2 (m) 1

Page 3 Code No. : 21108

10.

Two equal roots of the equation

x'—9x® +4x+12=0 is x=

(@ -1 (b)) -3

© 2 @ 1

eilfls wpr apomseflar Camymu  wHOY  srewr
apenp LwaTUHEng).

(1) &miTLemen (<) emmiemit

@) Grd (%)  GoLind

method 1s used to find an

approximate value of irrational roots.
(a) Carden’s (b) Horner’s
(c) Rolle’s (d) Sturm’s

Q(hH (}pﬁll_rtq.& soaULenLs Siés &miLer epeni
vwenl(pgs Ceuarr(Bomusler @igen ahUemaT ppemiset er

eTenTenilEean s <45 @QmaEs Ceuenm(Hid.
(=) O (<) 1
@) 2 () 3

To solve a cubic equation using Cardon’s method,
the number of imaginary roots of the equation
must be —

(@) 0 (b) 1

¢} 2 (d 3

BrenE Lig sbarum.eig Siss b

WPemne LeTU(HSSLD.

(=) uEssD (<p) &6

(@) Qevamii (/) Quirgm)

To solve a biquadratic equation, we can use
method.

(@) Division (b) Cardon’s

(¢) Descarte’s (d) Ferrari's
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